September 28, 2017

After Test2 Assignment e  Aisthe origin located at (0, 0)
Naming an ordered pair. 4C € Bis on the x-axis located at (5, 0)
D C is on the y-axis located at (0, 7)
y-axis ¢ D is in Quadrant Il located at (-6, 4)
Quadrant || Quadrant | _B E is in Quadrant | located at (8, 9)
(-x, +y) (+x, +y) F is in Quadrant IIl located at (-4, -3)
Fe G is in Quadrant IV located at (3, -9)
X-axis oG
Quadrant Il Quadrant IV
(-x, -y) (+x,-y)
[#1 Complete the following chart using the graph given below [elt.
Point x-Coordinate | y-Coordinate | Ordered Pair | Quadrant or Axis
-1 0 (-1,0) x-Axis ¢ #2
B - -4, d2 )8 . .
C ’L % ((q‘ 3 %‘304 3_ B Plot the following points
D A ¢ .
E qq _% gq ."-b“:) %“fa‘l [ A on the coordinate plane
F - b (R,=L) [ Quad3 8 ¢ left
G o -5 go,—ss) ;I)—axisl4 * at left.
H - S.-
5 ® 81| _Ouad ¢ A©.3) B(5,0)
B L]
: 2 £ ¢ (1.6) D6 4)
% E(-6,-2) F (8 -5)
A
E
L J
J: G
H
.

Is (1, 6) a solution to y = 2x + 4?
Yes!
x=1landy=6 6=2(1)+4

=2+4
6 =6 Yes! This is True!
Therefore, (1, 6) is a solution toy = 2x + 4

16-8=6

o o -
Is (2, 4) a solution to 8x - 2y = 67

No!

x=2andy=4 8(2)-2(4)=6

Determine if an ordered pair is a solution to an equation.

8 =6 No! Not True!
Therefore, (2, 4) is not a solution to 8x - 2y = 6

#3 Determine if the given ordered pair is a solution to the given equation. Show your work to
explain your answer!

a.) Is (3 -4) a solutiontoy =-3x + 5?
Y (-4=3(>+5
-Y=-94§
-4 = -y /
Nest (34) is a solubon
b.)  Is(2,-1)asolution to 5x +y =47?
x Y B@)11)= :F
5x+\i—_k\ lo +ql_4 0!

(2-1) i5 hota 30l
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#4 More Practice with Literal Equations. Solve each equation fory,

c) Is (3 4)asolut10n to 7x - 3y =27
1;?)]24)_ % a') y+3 =5x 5 b.) 2x+y=18 Zx
| -3 - —2X
g=2 No. _—
(3.9) s nota solukion Y= 5%-3 \= 1% -2x
d) Is (9 5) asolutiontoy =1/3x + 2?7
=-2¥+(R
Y (S5 Y=
55 3L \/:M)H—l:)
=5 v
@5)is o Soluhon
1
i
C. 3x-y=9 d. 6x + 2y = 20 ) -Bx+dy=12 if)  10x-5y=15
) - ’ 2% : —(ax ’ —lox +‘5xx e P —ox —10x
3 2y=20 —bx N= 4B '—_S%L%‘Lbls
=94-3x - 9 —q ! e
__\L = 2 \02_3 y=3x2x : y=2x-3
= -3 i
\1—_—°\ 3% N PN
N="3x+l0 ! !
\,:3¥‘q !
!
!
!
!
!
!
!
1
é
b)  8x-4y=16 h)  9x+3y=6 i) 4x -4y =8
~Fx -8x - W t,:?ax +4x +Uy
=l Cas 4y =8+4x
- -4 +2X Y: 2-3% _L{ —Li
\{' \{: -2 -X
\=2x-4 \= 33X+




